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h inflows as follows :

& __ Project A Project B
| CashInflows [CIAT] | _ Cash Inflows [CIAT]
| Annual - Cumulative Annual . Cumulative
3 < % z T
o 5,000 5,000 9,000 9,000
) 8,000 13,000 12,000 21,000
3 10,000 23,000 15,000 36,000
4 14,000 HISZ 000 5 20,000 56,000
5 18,000 55,000 21,000 77,000
6 20,000 75,000 18,000 95,000

,re annual cash inflows pattern are not uniform and therefore, we have to calculate the cumulative

evident from the above table that initial investment of Z 55,000 will be recovered within 5 years

of project A. However, for project B, the cumulative cash inflow at the beginning of the fourth
ar amounts to T 56,000, which exceeds the initial cost of investment of Z 55,000. Hence for project
the pay back period lies somewhere between the 3rd and 4th year. Now by applying simple
terpolation technigue, we can find out the PB period (say, x) for project B as follows :

3 T 55,000 — T 36,000 [ Partial 'difference]

x__
3=3-= Z 56,000 — T 36,000 L Total difference

2 x-3 _ 19,000

3 1 20,000
or, x-3= 095

Ror x = 3-95 years

'@ the maximum acceptable payback period is 4 years, the project B (3-95 years) will be accepted
ject A (5 years).
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tion 10.

gineering Company is considering the purchase of a new machine for which two possible
are available to them. You are requested to advise management as to the profitability of

~ MachineX Machine Y

- ¥2,00,000 < 3,00,000

Gleulation of Pay Back Period (PB) :
PB= Initial Investment

- Constant Annual Cash Inflow
SRR fiaes - £9%2,00/000 _
f‘;MachmeX 255 000 8 years

¥30,000

Fm‘lll"u- s

FQTMachmeY= 3,00,000 _ 10 years,

Estimated life (years) 10 14
Annual cash inflow after tax - Z25,000 Z 30,000
‘ - [C.U.B.Com(H), 2012]




Post Pay Back profitability :

Machine X Machine y ' ‘_
Estimated life (in years) 10 14 -
Pay back period (in years) Y 10
Post Payback period (in years) N 4
Constant annual cash inflow (after tax) [CIAT] T 25,000 T 30,000
Post Pay Back Profitability Z 25,000 X 2 30,0004
[Constant cash inflow p.a. X post payback period] =¥ 50,000 =% 1,20,000
Post Pay Back Profitability Index e
itabili % 1,20,

e o el

= 25% = 40%

D Advise to the management : _
It is quite clear from the above that if the company follows post pay back profitability method
Machine Y should be purchased as it gives more profit after pay back period.

However, it may be observed that if the company follows traditional pay back period method thes
Machine X should be purchased as it would appear more profitable due to shorter payback periog
than that of Machine Y. But after pay back period Machine Y contributes ¥ 70,000 (i.e., ¥ 1,20,000-
% 50,000) more in respect of recovering its initial outlay. Hence, the company should go for Machin
Y as it is more profitable to invest. '

The above method for computing post payback profitability is applicable when annual cash inflo
are uniform or equal. But when cash flows are not uniform, the following formula may be used fo
computing post payback profitability :

All expected cash inflows generated during the entire life of the project,

including the recovery of working capital and scrap sale, if any |
Less : Initial Investment of the project o)
Pay Back Profitability or Post Pay Back Profitability

Tlustration 11.
Mahindra company is considering the purchase of a new Machine X, the price of which
¥ 2,00,000. Cash inflows expected to be as under. Calculate Post Payback Profitability of Machine

Cost price Z 2,00,00€
Effective life
Scrap value
Additional working capital required
Estimated cash inflows after tax :
End of year 1
End of year 2
End of year 3

End of year 4







back period for mutually exclusive projects where annual cash inflows are uniform.

i

*Ltd. has decided to purchase a machine to augment the company’s installed capacity to meet the

g demand for its products. There are three machines under consideration of the management.
vant details including estimated yearly expenditure and sales are given below :

All sales are on cash. Corporate Income Tax rate is 40%
B : Machine1 | Machine 2 Machine 3
Initial investment required 3,00,000 3,00,000 3,00,000
Estimated annual sales 5,00,000 4,00,000 4,50,000
Cost of Production (estimated) : ~
Direct materials ‘ 40,000 50,000 48,000
A Direct Labour 50,000 30,000 36,000
Factory Overheads 60,000 50,000 58,000
Administration Costs 20,000 10,000 15,000
_Selling and distribution costs - 10,000 10,000 10,000
;}E&Onomic life of Machine 1 is 2 years, while it is 3 years for the other two. The scrap values are
»¥25,000 and ¥ 30,000 respectively.
Mate Tequired to find out the most profitable investment based on ‘Pay Back Method".
[1.C.W.A. Inter, June, 1997]




Annual Cash Inflows :
Estimated annual sales ...... (A)

Estimated Costs :
— Direct materials
— Direct Labour

— Factory Overhead

s gk iginal Cost-Scrap Value
— Depreciation | Original P
[ Life of Machine

‘— Administration Cost
— Selling and Distribution Costs

Profit / Earnings Before Tax (EBT) [(A) - (B)]
Less : Tax @ 40 %
PAT / EAT
Add : Depreciation
Annual Cash Inflow After Tax (CIAT)
Initial Investment
Initial Investment
Annual Cash Inflow

Pay Back Period (Years)
Rank

A Maghifle No.
1 2
- . _
4 4
5,00,000 4,00,000
40,000 50,000
SO,QOO 30,000
60,000 50,000
1,30,000 91,667
20,000 ; 10,000
10,000 10,000
3,10,000 2,41,667
1,290,000 1,58,333
76,000 63,333
- 1,14,000 95,000
1,30,000 91,667
2 2:_44,000 1,86,667
3,00,000 3,00,000
1-23 ' 1-61
1st 3rd

Machine 1 has the lowest pay back period, hence it would be preferred to the other two mach “»




